I K/KES
MERSI—FK| X298 | o448 | M8 E BESES E } I/)IL 7 J_
_ o — | —
GA EELER | A AL | B17 IR 32 BANY R—LEE (IM18-11-1) (Mm&E = 080) L
: an 71N =1 >‘ H =7 BIgH ARBNE
f+ 1z B H S=1_: 500 (i E% T mEXNo. 35) "
FEX s=1:40 i
| (4 —1) |
|
: v '
= #1140 L
| 70/ 21000 |70 g
I ]
ll TSR A
02200 1. 9%o 41%25.7m —— 8ce S‘:gs JECS JNO.192 ’?zjoo‘l]fo 554‘075m ii ii
O : Ty O ii l ii
o X .
| FROKES = i: :i
= =l - g 2
= ~ >
EROEL G R o
L ________ ™y
fa
—— - s 3
N N
Q Q
S o
— =
L , @900 N N O
= | o \P L] S
© o\ 2600, 1 <
=y R =
= s
L:./<I$:
40| 1140
2250
! Y ] 9,
B - B BTEIX s=1:40 B, A - A FTEX s=1:40
2600 2600
GL=119. 039 GL=119. 039
=3 N = i 2
| _: : | _ : :
]f%ggoo S ]: 2900 E
: | < : - <
gas " g —i v
| o T\ B
oy M- I
o = = 5/ : of H_ 3
> | > i HA#
2 S | . g o4
1 = | b = 4
2 3 Ly 2 3 s i . s g 3
: 2 F- - —--=-=--=-=-=-=-=-=-=-==-==-23 () o0 N [ N = ﬁ
SYIS ! AR S ¥ | 3 | S
f o 2 i i
() | |
™ I i HEREES
5 | 13333 131337 | ] = A
S | | / 8 ~
- ' ' - A
S i P 7
AL gl g 008088, TTTTTT) 52 ?
100 | 1300/ 400 3600 400 300 |100 100 | 1300/ 400 3600 400 300 |100 A
400 4400 400 400 4400 400
R—




I A Y
HER7OI—F X7 8 h o 5 IN 9 8 ZHEHEFS E } II)"., I 7 L
=n 2L A ) 1\ ) e — =
GA EELH | A A | 17 IR 32 AT R —)LEEHHE ( ) ( = -1) y
S ¥ ViR—ILEE X M17 X m&E= 031-1 BEL GEBS
it R HY S=1:500 (&3 zIZEINO 37) "
I N e —— ; ‘zw PYC —— !
|
2 & {E,% |
- J C— <
! 1
(7] ©2200 1. 1% 554.075m ' [16=2] 02100 0.0% 94. 170m
B B
2 — lW Chiry | e //;&
} i llo TR
o T
#EG { 8 LLrEnlil S=1:40
&l | _
} ,’ﬁ%‘ |
L1
%B T N —— .
So
S
),\QD
A%, ~
% 2
g g - - 5 _— s g
NN 1400 1955 N
745 | 600 455 1277 577 | 346 S
/ g
S2y) S F H
400 1800 1800 400 Q@&’
4400 HE0
54
8 B
3
J=
I
A
5t
Z3
3
J=
R—3




HERXRSO—F| XK 9 %

Y
+H
R

)|_
Y
i
[E
i3
Jj0

N 5

*H*ﬁmuwﬁ_rﬂ(L LS

_ 2L Y Xy [ = =
GA BE £ AR E1TIR 32 FANFR—IILEEMHE (IM7) (HEEE 081-2) .
: an ey in HI 875 BiSL ARBE
M
17
%
)
2
]/ W . v/ [XY .
A - A FrEX s=1:40 B - B FrmEX] s=1:40
2600 2600
o o
N GL=19. 406 GL=19. 406 -
%78 ] [ 77 7577 ] 727 —
| // e \\ o // —: ()
j &\ o i : 2
| — — | ‘ - o _
= o 2 1346 ]: - s 2
2900 = — | | =
— = © 346 1000 , =L Sl
! — ! 2 | I = 81_
l [ 5 il [ glo
| | = T [ —
a | - S S 250] | 2900 i gl = S
~ S ' | I 1250 | T
§ = ! R ! S
Bk o
- 300 S — 300 300 —
T g / | | gs s 3 2 2
| 800 ~ |
| | C--f------Q
: o : S S o 8
3 g i 5 ’ s g @ S SR EE— . 8 g
I : — I~ I\ Q
2 | : § 9 ) e — .54 | y
: = | Cgl /‘C::::::::::::§714 434 I N Ry
| o |
| o |
-~ | : o
2 | _ | / &
™ | e
O O o
O O O
< < <
3 3
300 400 3600 400300 1500 2100
100 5000 100 346|346/ 1000 | 400 3600 400 1000 346|346
B ]
115 7784 115 s
F A
FRF0
54
e
3
A
I
A
5T
4
3
A
R—




